4% 2 . XHJL-BG-04

A

2013100085U
JE 48 115 7 R A T 5K B W 3
R " =

(2015) % M Q) F F (2152 )

Jp

C & | )

A 2 7 4t s

Gty RBETREA (F49) HRAF

ik EHTTHX ST 78 5 F1h: 0510-88204696

“—O—hE=AH -1+t H



(2015)

KI5 (QZ) T8 (2152 5§

oI 4 T OFF BT M W ¥
b g AR T R

6 T 1L

AR~ V; |
AT %ﬁ”ﬁﬁi(%%)ﬁ' \ st ﬁ%%m%&@ﬁ%un%gj
BARN ‘ GRAR X E \ 15061873029 W | 214028 ‘
A A
’u%%%[ BE S HE A < e AR ; 4
F 5 iy
\Hﬁ;‘mw%% WI-60B B KR AR ‘ G 5 |
ik A 3 2015.3.25 \ T % ‘+
W E ZHE AL \
W P 2 SULE. BME. BHE. Hh. ZMIm. AR
TE (AEERARATRAAMNE Ry R afﬂ
HJ1/T27-1999
Mm% R4 (R A o TITIEY CRRIARRD) H% |
| | FRAR (2003) 5.4.4.1
'\ | W «D'E(H‘}ij%{ﬁﬁr:—hqjﬂM)CmﬂEJU"J S5 R 53 - MR B 3 D G BEVERD |
e | HJ/T28-1999 |
| EREIRIE ] g B 2 5 T P A 5E 5 AT AR ) |
GB/T16157-1996 |
7. LB <<I(’E%Fﬁ§’ﬁﬁ%%)ﬁ?ﬁlﬂ%t@%ﬂﬂé‘ﬁﬁﬁ%@‘é%‘é%éim
GBZ/T160.63—2004
mEAY (BRI R RRIE R Z A B
HJ/T43-1999
= HE R R A RO B B H TR AT 6
e | aHEchEAE) 3 2 B gbRdE R U P UL WEMRE. AL

A HE RO BT & (R YE e O IE) GB21900-2008 %’z 5 brifE

o BEYS

C

2% GB16297-1996 ¢ KX S5 RER
. BAEMN

t

1

|

EL
%g&= W B e
en M w k R L P \




(2015) i (QZ) %5 (215-2) 5

EFEZH 5 R 5 p
3

IRV A HE R O 6 TUEK 2 |
ot WA Bofy AT Frife M &5
N &1 5 m -- 20
) 53 0 18 7 T A m’ % s 0.2827
M= T - 20
RS m/s = 8.80
5 | BRGE m’/h (F5A) = 7837
» 6 |FE Pa = 66
F
7 | BRIE kPa = 0.02
8 | MAEMBKE | mgm® (id) 30 0.712
L9 RS He = kg/h - 5.58x107
! 10| RENDHIBKE | mg/ m® (b)) 200 0.966
/\11 RE Y= kg/h = 7.57X10°
|
%




(2015) SRl (QZ) F&H (215-2) 5

EFREZHE WA S

2H A FRSHR E 6 TWE 3N
F_“]E’ ol N 2% b Kot V1 £ 03 Milil >
= ok I H AL PAT PR E Mk g R
1| B m = 25
2| I s HRE E A ER m° . 0.283
L
3| R T - 22
4 | RARIE m/s - 5.30
5 | RRAE m>/h (FRA) = 4837
6 |BIE Pa = 26
7 | #E kPa - 0.04
8 | MMEHIOLE mg/ m® (hrd 0.5 ND
L9 | B EHRE kg/h - ARG H
% | ND ZRRML
VE | B B RARAS K 0.09 mg/ m?




(2015) i (QZ) F5 (215-2) 5

EFEZHE WA G R

3tk AR RS HR A oo TUH 4 0T
7 o . i -
P ok m g B PAT IR M2 R
1| WA & m - 20
2| R E A T AR m’ - 0.071
30| R C - 23
4 | ERE m/s - 2.16
5 | RRAE m’/h (FEA) - 484
6 | Bk Pa - 5
7 | B kPa - -0.01
8 | M ARHEBOKE mg/ m® ChrA) 120 12.9
9 | BrdtEmE kg/h 3.9 : 0.006
%
E




(2015) s (Qz) F5 (215-2) =1

rE 5 WRER

MRy R SRR E 6 G5 5 T

do

1 | REREE W m \ - \ 15

2| AR E AR m’ - 0.332

&
\ 3| ESIRE C
| 4 | ERIE m/s

|
2 R m*/h (R

=

)

5
[
|6 | Pa " 17
kPa - 0.01
\
oy 2 HE TR mg/ m® (FRa) 120 16.7

B e R



(2015) SRl (QZ) F% (215-2) 5

¥ 5 K5 W =
SUBRTES M. AW EAHE 65 6 It
52 e . o] <
_;5 R T H s AT FRE R 2 5
1| A m - 15
2| R A T AR m’ - 0.196
L3 | ERIRE C -- 23
%-
‘( 4 { U m/s - 6.88
\ K ‘(})!L S m’/h (bR - 4262
T
', 6 | Bk Pa = 42
7 | FHE kPa - -0.00
8 | REZHEROKE | me/n’ (A 30 118
|
L 9 | BRERZE HEBE kg/h .= 5.03%10
10 R mg/m® (A& | 200 8.2
11| JAE YR kg/h - 0.035
12 | 2ROk | mg/ m® Gids) -- ND
13 | 2Bl E kg/h -- A
% | ND Rkt
Va0 éﬂ&é@iuﬁﬁ}%’d&ﬁ&M&FO1mg/m




